2. (15 points) Consider the following axiom system.

Undefined Terms: point, line, on
Axiom 1. Any two distinct points are on exactly one line.
Axiom 2:  There exist at least three points not all of which are on the same line.

Axiom 3: Each line is on at least two distinct points.
Axiom 4: If lis a line and P is a point not on the line, there exists another line that is on P but is

not on any point that is alsoon ¢ .

(a) Verify the consistency of th1 m system with the use of a model.
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(b) Show that Axiom 2 is independent of the other axioms. Start by explaining your strategy.
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